A :GC2 (Menlo Park, Madera, and Fresno, N=9) vs GC3 (Clovis, N=7) :
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B:GC2 (Menlo Park, Madera, and Fresno, N=9) vs GC4 (South Africa, N=3) :
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C:GC3 (Clovis, N=7) vs GC4 (South Africa, N=3) : Fs7=0.273+0.002
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D:GC1 (Southern CA, N=18) vs GC1-B (Vero Beach, Exeter N=6) :

100
s 107
L 1072
1073

0 100
Chromosome 1 [mb]

200
Chromosome 1 [mb]

300

0
Chromosome 2 [mb]

Chromosome 3 [mb]

Fsr=0.091+0.001

Mm Pt

200

0 100 200 300

Chromosome 2 [mb]

400

0 100

200 300
Chromosome 3 [mb]

400

- GC2
- GC3

- GC2
- GC4

- GC3
- GC4

- GC1
- GC1-B



